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1. The slope of the tangent line to the curve

at £ = 0 equals
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2. If [[z]] is the greatest integer less than or equal to z, then

lim [[tan(=z)]] =

z—0+

@_1 ')L‘/, O‘\', 9;“‘(’#\
(b) 1 /'YL/O ' t‘}

(c) O A) £ -
i MU\(, o

(e) —m ﬁ WL('?O

2



Math 101, Exam I, Term 163
1 1
3. lim (77 + 1)

z—0~ e

%
(b) o0
(c) —
(d) 1

(e) £

Va-z _
4 ImiT =
a1
(b) 3
(c) 0
(d) oo
(e) —

MASTER

(,c» 0= o
o/

Page 2 of 10

(J’ k1) =

rm” 3

W (Y1 (Ve (L)

<=\ R) LR (VR
ol ) ( LV
K d %) (VAN
L w 1779 Uf_@
’ K\ TG (v
p ) D _ |
—tn



Math 101, Exam I, Term 163 Page 3 of 10 MASTER

5. Which of the following functions

@) = =g 90 =27,
M) = SIS pe) =t ()

has a vertical asymptote at z = 1? () = 2o
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6. Given that lim(2 - 3z) = -1, and using the e,(S-deﬁnition, the
largest possible value of 6 that corresponds to ¢ = 0.06 is
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7. The function f(z) = —; n 5 has
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@two discontinuities: one removable and one infinite M) z w
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(d) only one discontinuity which is removable v €mor4 ple A b it

(e) only one discontinuity which is infinite

., . y /_
o > (g (KA
vy =9
)y A an B diset 7

. T —2sin(3z)
8 “;Hgo o + 1 N
W X
1 e - T Lo
3 “// 7 =%
(b) 1 e oK A g
A
(c) -1 =i z )9/
(d) oo

/)// 7 i
8
[~ 'f:m/co/o@“’ g



Math101, Exam I, Term 163 Page 5 of 10 MASTER

9.

10.

The function f(z) = x2x+—x3— = is continuous on
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11.  The graph of the function f(z) = has

(a) bne vertical asymptote and two horizontal asymptotes
O
(b) one vertical asymptote anq,(ne horizontal asymptote

(c) one vertical asymptote and no horizontal asymptotes
(d) no vertical asymptotes and one horizontal asymptote

(e) mno vertical asymptotes and two horizontal asymptotes
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13.  If the tangent of y = f(z) at the point (1, 2) passes through
the point (2, 3), then f'(1) =
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14.  The vertical tangent of f(z) = (1 — 2z)'/° is l\/\, hee Hth
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15.  If f(x) = 2% — 2z + 3, then f'(2) =

i

P Ly
v /Q\/) 1 Y/ 2
N e i
(c) 1 _ e~ O T T
(d) 3 PN P \
2 - &
(e) 4 e MegAaan AT
] 2 4
, o 7__)
e Aux ST 4
T’ E21
z Z' )
3, r <2 )/ '
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17. A particle moves along a straight line with equation of mo-
tion

s=ft)=t"1—t,t>0

where s is measured in meters and ¢ is measured in seconds. <9( 6) = JZ'- - ,5:_
The speed when t = 5 is P _,.ﬁ’:ﬂ—-‘-
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19. Let

T —95, x>0

1
f(rc)={ 21 =T

Using the graph of g(z), we conclude that }:11)1(1)( f—9)(z)

@);‘equals _3
(b)

equals 1
(c) equalsO
(d) equals?2

(e) does not exists

20. If [[z]] is the greatest integer less than or equal to z, then

dm sl = e g 1T B
Gh w7

(b) 1 %fL L \

(c) —1 //yLL 1

(d) oo 1
7/ |

() —o0 (



